TRUONG THPT HUNG YEN PAP AN PE THI THU THPT QUOC GIA LAN 1 NAM 2020
TO NGOAI NGU MON TIENG ANH
Pé thi gom 50 cdu trac nghiém - Thoi gian lam bai: 60 phiit

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs
from the other three in pronunciation in each of the following questions.

Question 1 (NB): A. missed B. talked C. watched D. arrived
Pap an D
Kién thirc: Phat am dudi “ed”
Giai chi tiét:

A. missed /mist/
B. talked / [to:kt]
C. watched /wotft/,
D. arrived /2 'rarvd/
Quy tiic: C6 3 cach phat am phy am cudi “ed”:
- /t/: Khi tir c6 phat am tan cung la cac phu am vo6 thanh /p/, k/, /17, /s/, /f/, /tJ1,/ (thuong c6 tan cung la cac
chit cdi ce, x, z, sh, ch, s, ss)
- /id/: Khi tir ¢6 phat am tan cung la cac am  /t/, /d/
- /d/: Khi tir c6 tan cung la cac nguyén am va cac phu am con lai.
Phan gach chan phuong an D dugc phat am 1a /d/, con lai phat am 1a /t/.
Question 2 (NB): A. primary B. divide C. examine D. science
Pap an C
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Kién thirc: Phat 4m nguyén am “i
Giii chi tiét:
A. primary /' praimori/
B. divide /dr'vaid/
C. examine /ig'zemin/
D. science /'sarons/
Phan gach chan phuong an C dugc phat am 13 /1/, con lai phéat 4m 1a /ar/.

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in
the position of primary stress in each of the following questions.

Question 3 (NB): A. attract B. polite C. aware D. level
Pap an D

Kién thire: Trong am tir ¢6 2 4m tiét
Giai chi tiét:
A. attract /o"traeekt/
B. polite /po’lart/
C. aware /o'wear /
D. level /'leval/
Phuong an D c6 trong am roi vao am tiét 1, con lai 1a am tiét 2.

Question 4 (NB): A. romantic B. vacancy C. consider D. informal

bap an B

Kién thire: Trong am tir ¢6 3 am tiét
Giai chi tiét:



A. romantic /rov ' mantik/
B. vacancy /'veikansi/
C. consider /kon'sida-/
D. informal /' fo:mal/

Phuong é4n B c6 trong am roi vao am ti€t 1, con lai roi vao am tiet 2.

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following
questions.

Question 5 (NB): We tried our best for our final examination, ?
A. don’t we B. cannot we C. didn’t we D. have we
bap an C
Kién thire: Cau hoi dudi
Giai chi tiét:

Vé trude cau hoi dudi dang khing dinh => cau hoi dudi dang phu dinh
Vé true: We tried our ....=> cau hoi dudi didn’t we?
Tam dich: Chung ta da ¢ géng hét sirc trong ki thi cudi, dang khong?
Question 6 (NB): The company releases a lot of untreated waste water into the river is punished.
A. who B. whom C. which D. whose

Pap an C

Kién thirc: Dai tir quan h¢

Giai chi tiét:

bai tr “who/ whom” thay cho danh tir chi nguoi , “whose” thay cho tinh tur s& hitu, “which” thay cho danh

tir chi vat/ d6 vat

Tam dich: COng ty nao thai xuéng song phé thai chua qua xir 1i thi bi phat.

Question 7 (NB): While my mother a film on TV, my father was cooking dinner.

A. watched B. was watching C. had watched D. was watched

Pap 4an B
Kién thirc: Thi cua dong tir
Giai chi tiét:
Sau “while” ta thuong ding thi qua khir tiép dién
Tam dich: Trong liic me t6i dang xem phim trén TV thi bé t6i dang niu bita tbi.
Question 8 (TH): | suggest at home and watching television.
A. stay B. to stay C. staying D. to staying

bap an C
Kién thirc: Dang cua dong tir: to V / V-ing
Giai chi tiét:
suggest + ving: dé nghi/ goi ¥ hay lam viéc gi d6
Tam dich: Ching ta hdy ¢ nha va xem TV di.
Question 9 (TH): I would have visited you before if there _ quite a lot of people in your house.
A. hadn't B. hadn't been C. wouldn't be D. wasn't

bap an B
Kién thire: Cau diéu kién loai 3
Giai chi tiét:

Dau hiéu: dong tir & MP chinh (khong chira “if”) chia “would + have + past participle”.



Céch dung: Cau diéu kién loai 3 dién ta diéu kién trai v6i qua khir din dén két qua trai voi qua khi.
Céu trac: If + S+ had + past participle + O, S + would + have + past participle.
Tam dich: To6i da dén tham ban rdi néu nhu trude d6 khong c6 quéa nhidu ngudi ¢ trong nha ban.

Question 10 (TH): she got the salary last week, she has complained that she is out of money.
A. Unless B. Eventhough  C. Incase D. As

Pap an B

Kién thirc: Ménh dé trang ngr chi sy nhugng bd
Giai chi tiét: dich nghia

Unless: Trir phi/ Néu ...khong => loai

Even though: Mac du/ Tham chi ...

In case: Trong truong hop....=> loai

As: Vi ...=>loai

Tam dich: Mac du mdi tuan trudce linh luong, (nhung) c6 ay van phan nan rang gio c6 ay hét tién roi

Question 11 (TH): It is high time we something to protect our environment.
A.do B. to do C. did D. have done

Pap an C

Kién thire: Cau gia dinh & hién tai, dién ta ai phai lam viéc gi d6 roi
Giai chi tiét: Cau trac: It is time/ high time + S + V past subjunctive
Tam dich: Pi dén luc ching ta phai lam gi d6 dé bao vé moi truong roi

Question 12 (TH): I live in a pleasant room the garden.
A. to overlook B. overlooking C. overlooked D. which overlooking
bap an B
Kién thirc: Ménh dé phan ti/ Rut gon ménh dé
Giai chi tiét:

Rat gon ménh dé quan hé dang chu dong: bd dai tir quan hé, gilr lai V nguyén thé thém duéi -ing
Dang day du: | live in a pleasant room which overlooks the garden.

Dang rat gon: I live in a pleasant room overlooking the garden.

Tam dich: T6i séng & mot can phong dé chiu/ thoai mai huéng ra khu vuon.

Question 13 (NB): The Press are concerned about the quality of radio, television and other forms of

A. entertain B. entertaining C. entertainer D. entertainment

bap an D

Kién thirc: Tir loai

Giii chi tiét:

Gidt tu+ V-ing/ danh tur

=> chd trong can dién 1a danh tir

A. entertain (v): gidi tri

B. entertaining (adj): 1am vui long, lam vira y

C. entertainer (adj): ngudi biéu dién tro tiéu khién

D. entertainment (n): tro tiéu khién/ giai tri

Tam dich: Béo chi quan tAm vé chat luong ctia phat thanh, truyén hinh va cac loai hinh giai tri khac.

Question 14 (VD): John is explaining the situation for his friends to make , but they can’t.
A.up B. out C. off D. over

bap an B
Kién thirc: Cum dong tu



Giai chi tiét:

A. make up: tao ra/ Iam méi ( khuén mat/ cau chuyén)
B. make out : hiéu

C. make off: voi va doi di

D. make over: thay ddi vé bé ngoai

Tam dich: John dang giai thich tinh huéng dé cac ban cta anh iy hiéu ra van dé, nhung ho van khong thé

hiéu dugc.
Question 15 (VD):The more waste paper we recycle, .
A. the more trees we preserve B. the most trees we preserve
C. the less trees we preserve D. the least trees we preserve
Dap an A

Kién thirc: So sanh kép.
Giai chi tiét: Cau trac so sanh kép dién ta mdi trong quan nguyén nhan - hiu qua cua sy bién doi cua hai su
kién
- Tinh tir, trang tir dai: The more + adj/adv + S +tobe/V, the more + adj/adv+ S +tobe/V
........ cang... thi CANQG ...oovvvveviiiiiins
A. dang ciu trac va ngir nghia
B. the most.... sai c4u trtic, khong dung vdi so sanh cp cao nhat
C. sai ngir nghia: Chiing ta cang tai ché duoc nhiéu gidy thai, ching ta cang bao ton dugc it ciy hon.
D. the most.... .sai cdu trtic, khong dung véi so sanh cip cac nhét va sai ca ngit nghia

Tam dich: Chung ta cang tai ché dugc nhiéu gidy thai, chung ta cang bao ton dugc nhiéu ciy hon.

Question 16 (TH): In a formal interview, it is essential to maintain good eye with the
interviewers.
A. link B. connection C. touch D. contact
Pap an D

Kién thire: : Cum tir / Su két hop tur
Gii chi tiét:
maintain good eye contact : giao tiép/ biéu cam bang mat
maintain eye ...khong két hop véi cac tir link, connetion va touch
A. link (n): mt xich, chd ndi, duong link
B. connection (n): mbi quan hé, vat ndi
C. touch (n): tai san thira ké, gia tai, di san
D. contact (n): su cham, mo, dung, tiép xtic
Tam dich: Trong mot budi phong van trang trong, viée duy tri/ giir twong tic hiéu qua bang mit voi nhiing
ngudi phong van 1 rat can thiét./ quan trong
Question 17 (VD): Today, household chores have been made much easier by electrical
A. instruments B. applications C. appliances D. utilities

Pap an C

Kién thirc: Tir vung

Giii chi tiét:

A. instrument (n): dung cu, thiét bi (thurong 1& nhac cu)

B. application (n): su ap dung

C. appliance (n): thiét bi, dung cu (thuong la thiét bi dién)

D. utility (n): vat co ich

Tam dich: Ngay nay, nhiing cong viéc vit trong nha trg nén dé dang hon nho ¢ nhing thiét bi dién.



Question 18 (VDC): Poor management brought the company to of collapse.
A. the edge B. the foot C. the ring D. the brink

bap an D

Kién thirc: Cum tir / Su két hop tir

Giai chi tiét: to the brink of collapse: dén bd vuc sup do
A. the edge (n) cai ria, canh, mép

B. the foot (n) ban chan

C. the ring (n) chiéc nhin

D. the brink (n) bo vuc, bo song

Tam dich: Quén 1y kém di dua cong ty dén bd vure sup do.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the
underlined word(s) in each of the following questions.
Question 19 (TH): Most of the female football players will be jobless when the Games are over.
A. employed B. busy C. unemployed D. highly-paid

Pap an C

Kién thire: Tir vung

Giai chi tiét:

jobless (adj): khong c6 viéc lam

A. employed (adj): duogc thué, duoc nhan lam viéc

B. busy (adj): ban ron

C. unemployed (adj): khong c6 viéc lam

D. highly-paid (adj): dugc tra luong cao

=> jobless = unemployed

Tam dich: Hiu hét nhimng cau thi bong dé nit s& khong c6 viéc 1am khi nhitng cudc thi dau két thuc.
Question 20 (TH): The goalkeeper can also be ejected for twenty seconds if a major foul is committed.

A. advanced B. sprinted C. played D. excluded

Pap an D

Kién thire: Tir vung

Giai chi tiét:

eject (v): dudi ra

A. advance (v): chuyén hodc dt ai/ cai gi 1én phia trudc

B. sprint (v) chay nudc rat

C. play (v) choi

D. exclude (v) dudi ra, tong ra

=> ejected = excluded

Tam dich: Thu mén c6 thé bi dudi ra 20 gidy néu pham phai mot 16i nang.

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the
underlined word(s) in each of the following questions.
Question 21 (TH): I can't stand people who treat animals cruelly.
A. cleverly B. reasonably C. gently D. brutally

Pap an C
Kién thire: Tir vung
Giai chi tiét:




cruelly (adv) tan nhan, tan bao

A. cleverly (adv): khéo 1éo, sic sao, khon ngoan

B. reasonably (adv): hop 1y, vira phai, chap nhan duoc

C. gently (adv): nhe nhang, ém ai, diu dang

D. brutally (adv): hung bao, tin nhan

=> cruelly >< gently

Tam dich: T6i khong thé chiu dung dugc nhitng ngudi ddi xtr tan nhin véi dong vat.
Question 22 (VDC): We run a very tight ship here, and we expect all our employees to be at their desks
by eight o'clock and take good care of their own business.

A. manage an inflexible system B. have a good voyage

C. run faster than others D. organize things inefficiently
bap an D
Kién thire: Thanh ngir
Giai chi tiét:

run a very tight ship: lam viéc quy cu

A. manage an inflexible system: quan 1y mot hé thdng chit chg, hiéu qua

B. have a good voyage: c6 mot chuyén di vui vé

C. run faster than others: chay nhanh hon nhitng nguoi khac

D. organize things inefficiently: to chiic cong viéc khong hidu qua

=> run a very tight ship >< organize things inefficiently

Tam dich: Chung toi 1am viéc rat quy ct ¢ day, va chung t6i hi vong rang moi nhan vién déu phai ¢ ban lam

viéc vao lic 8 gio va lam tot phan viéc ctia minh.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the
following exchanges.
Question 23 (NB): Peter is talking to Daisy about her new hair.

- Peter: “You look great with your new hair!" - Daisy: “

A. You’re welcome B. Congratulations
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C. It’s a pleasure D. Thanks. It’s nice of you to say so

Pap an D
Kién thirc: Ngon ngir giao tiép
Giii chi tiét:
Peter dang néi voi Daisy vé mai toc méi cua co ay.
- Peter: "Ban trong xinh xan voi mai toc méil!"
- Daisy: "
A. Khoéng c6 gi
B. Chic mung
C. b6 1a mét vinh du
D. Cam on. Ban that tot bung khi néi nhu vay.
Question 24 (NB): David and Ken are talking about a happy marriage.
- David: “I think a happy marriage should be based on love. “ - Ken: « J
A. I’s O.K B. I not think so.
C. You are exactly right D. That's a good idea

Pap an C
Kién thire: Ngon ngir giao tiép



Giii chi tiét:

David va Ken dang noi chuyén vé mot hon nhan hanh phic.

- David: "T¢é nghi réng mot hon nhan hanh phuc nén dugce dya trén tinh yéu."
- Ken: "

A. BPuoc.

B. T6i khong nghi vay (Sai vé ngit phdp)

C. Ban hoan toan diung.

D. P6 1a mot y kién hay.

Read the following passage and mark the letter A, B, C or D to indicate the correct word or phrase that
best fits each of the numbered blanks from 25 to 29.

It is true that there have been great (25) in technology over the last forty years. For
instance, the use of mobile phones and e-mail communication are common these days. (26) :
machines could never do as good a job as a human, especially when it comes to interpreting what people are
(27) . Of course, machines can translate plain statements such as “Where is the bank?” but
even simple statements are not always straightforward because meaning depends on more than just words.
For example, the word “bank” has a number of different meanings in English. How does a translating
machine know which meaning to take?

In order to understand what people are saying, you need to take into account the (28)
between the speakers and their situation. A machine cannot tell the difference between the English

expression “Look out!” meaning “Be careful!” and “Look out!” meaning “Put your head out of the window”.
You need a human being to interpret the situation.

Similarly with written language, it is difficult for a machine to know how to translate accurately
because we rarely translate every word. (29) the contrary, we try to take into consideration
how the idea would be expressed in the other language. This is hard to do because every language has its
own way of doing and saying things.

Question 25 (VD): A. advances B. steps C. progress D. advantages
Question 26 (TH): A. Moreover B. In addition C. However D. Besides
Question 27 (TH) : A. talking B. saying C. speaking D. telling
Question 28 (VD) : A. relations B. relationship C. attitude D. action
Question 29 (NB) : A. With B. For C.On D. By

Question 25: Dap an A

Kién thire: Tir vung

Gii chi tiét:

A. advances (n): su tién bo, budc tién

B. steps (n): budc di

C. progress (n): su tién toi, su di 1én

D. advantages (n): thuan loi

It is true that there have been great (25) advances in technology over the last forty years.
Tam dich: Dung 13 di c6 nhiing tién by vuot bac vé linh vyc cong nghé trong bon muoi nim qua.
Question 26: Dap an C

Kién thirc: Lién tir lién két

Gii chi tiét:

A. Moreover, S +V : Ngoai ra, thém vao d6, hon thé nita => dé bd sung thém thong tin



B. In addition, S + V : Ngoai ra, thém vao d6, hon thé nita => dé b6 sung thém thong tin

C. However, S + V : Tuy nhién => chi su tuong phan y

D. Besides, S + V : Bén canh d6 => dé b6 sung thém théng tin

For instance the use of mobile phones and e-mail communication are common these days. (26)_However,
machines could never do as good a job as a human, especially when it comes to interpreting what people are
(27) saying.

Tam dich: Vi du viéc str dung dién thoai di dong va giao tiép qua e-mail ngay nay kha phd bién. Tuy nhién,
may moéc khong bao gio co thé lam tt nhur con nguoi, dic biét khi né duoc sir dung dé dich nhimng gi nguoi
ta dang noi.

Question 27: Pap an B

Kién thirc: Tir vung

Giai chi tiét:

A. talking (Talk thuong cho thiy hai hodc nhiéu ngudi dang noi chuyén. Talk mang nghia “ndi chuyén”,
“trao ddi vé viéc gi”, ... v6i muc dich chia sé thong tin, ¥ tudng hodc cam xuc.)

B. saying ( Say = “ndi ra, néi rang”: chu trong ndi dung duoc noi ra)

C. speaking (Speak : chung ta ding dong tir nay khi nhan manh viéc phat ra tiéng, phat ra 16i, mang nghia “
n6i chuyén voi ai, phat biéu, néi ra 10i”, thong thudng sau n6 khong co tan ngit, néu co chi 1a danh tir chi thir
tiéng dé dién ta kha nang néi mot ngdn ngir ndo do.)

D. telling ( Tell =ké, noi véi ai diéu gi d6, bao ai 1am gi, cho ai biét diéu gi)

- For instance the use of mobile phones and e-mail communication are common these days. (26)_However,
machines could never do as good a job as a human, especially when it comes to interpreting what people are
(27) saying.

Tam dich: Vi du viéc str dung dién thoai di dong va giao tiép qua e-mail ngay nay kha pho bién. Tuy nhién,
may moc khong bao gid c6 thé 1am tét nhu con nguoi, dic biét khi nd duoc st dung dé dich nhimg gi moi
nguoi dang noi.

Question 28: Pap an B

Kién thire: Tir vung

Giai chi tiét:

A. relations (n): mdi tuong quan,lién quan, quan hé ( mang tinh trang trong, thuong duoc wu tién chi moi
quan hé gitra cac qudc gia hodc nhiing t6 chirc 16n. )

B. relationship (n): méi quan hé, mdi lién hé ( dugc dung trong van phong thong thuong, thudng duoc sir
dung khi mudn nhic dén mot mdi quan hé nho 1¢, than thiét giita nhitng nguoi cu thé. )

C. attitude (n): thai do

D. action (n): hanh dong

- In order to understand what people are saying, you need to take into account the (28) relationship between
the speakers and their situation.

Tam dich: Dé hiéu duoc moi ngudi dang ndi gi, ban can phai xem xét mbi quan hé giita ngudi nodi va boi
canh cu thé cua ho.

Question 29: Pap an C

Kién thirc: Cum tir ¢6 dinh

Giai chi tiét: On the contrary: nguoc lai, trai lai.

Similarly with written language, it is difficult for a machine to know how to translate accurately because we
rarely translate every word. (29) On the contrary, we try to take into consideration how the idea would be
expressed in the other language



Tam dich: Tuong tu véi ngdn ngir viét, rat kho dé mot cai may biét cach dich chinh xac vi ching ta hiém
khi dich timg tir. Nguoc lai, ching ta c6 gang xem xét viéc 1am thé nao dé thé hién y tuong bang ngdn ngir
khac .

Read the following passage and mark the letter A, B, C or D to indicate the correct answer to each of the
following questions from 30 to 34.
Diseases are a natural part of life on Earth. If there were no diseases, the population would grow too

quickly, and there would not be enough food or other resources. So in a way, diseases are nature’s way of
keeping the Earth in balance. But sometimes they spread very quickly and kill large numbers of people. For
example, in 1918, an outbreak of the flu spread across the world, killing over 25 million people in only six
months. Such terrible outbreaks of a disease are called pandemics.

Pandemics happen when a disease changes in a way that our bodies are not prepared to fight. In
1918, a new type of flu virus appeared. Our bodies had no way to fight this new flu virus, and so it spread
very quickly and killed large numbers of people. While there have been many different pandemic diseases
throughout history, all of them have a few things in common.

First, all pandemic diseases spread from one person to another very easily. Second, while they may
kill many people, they generally do not kill people very quickly. A good example of this would be the
Marburg virus. The Marburg virus is an extremely infectious disease. In addition, it is deadly. About 70 — 80
% of all the people who get the Marburg virus die from the disease. However, the Marburg virus has not
become a pandemic because most people die within three days of getting the disease. This means that the
virus does not have enough time to spread to a large number of people. The flu virus of 1918, on the other
hand, generally took about a week to ten days to kill its victims, so it had more time to spread.

While we may never be able to completely stop pandemics, we can make them less common.
Doctors carefully monitor new diseases that they fear could become pandemics. For example, in 2002 and
2003, doctors carefully watched SARS. Their health warnings may have prevented SARS from becoming a
pandemic.

Question 30 (VD). This passage is mainly about
A. how to prevent pandemic diseases.
B. pandemic diseases.
C. pandemic diseases throughout history.
D. why pandemics happen.

bap an B

Kién thirc: Poc hiéu

Dang cau héi: Tim y chinh cda toan bai

Giai chi tiét:

Bai van cha yéu noi vé:

A. Céch ngan chéan dai dich.

B. bai dich.

C. Nhiing dai dich trong lich str.

D. Tai sao dai dich x4y ra.

Thong tin: Trong sudt bai vin, tac gia tdp trung vao chu dé dai dich: Poan 1 dinh nghia dai dich, doan 2: khi
nao dai dich xay ra, doan 3: nhitng diém chung cua dai dich, doan 4: cach ngan chan dai dich.



Question 31 (TH) . According to paragraph 1, how are diseases a natural part of life on Earth?
A. They prevent pandemics.
B. They help control the population.
C. They help the world grow quickly.
D. They kill too many people.
Pap an B
Kién thirc: Poc hiéu
Dang cau héi: Tim thong tin thuc
Giai chi tiét:

Theo doan 1, bénh tat la mot phén tu nhién cua sy séng trén trai dat nhu thé nao?

A. Ching ngan chan dai dich.
B. Chung gitp kiém soat dan sd thé gioi.
C. Chiing gitip dan sb thé gidi phat trién nhanh chong.
D. Chung giét chét qua nhiéu nguoi.
Thong tin: Poan 1: Diseases are a natural part of life on Earth. If there were no diseases, the population
would grow too quickly, and there would not be enough food or other resources. So in a way, diseases are
nature’s way of keeping the Earth in balance.
Tam dich: Dich bénh 13 1 phan ty nhién ctia cudc séng trén trai dat. Néu khong c6 dich bénh, dan sb thé gidi
s& gia tdng rat nhanh, va s& khong c6 du thuc pham va cac ngudn tai nguyén khac. Vi vay, bénh dich 1a cach
giit cho su song trén trai dat dugc can bang.
Question 32 ( TH) . Based on the information in the passage, the term pandemics can best be explained
as

A. diseases with no cure

B. a deadly kind of flu

C. diseases that spread quickly and kill large numbers of people
D. new diseases like SARS or the Marburg virus

Pap an C

Kién thirc: Doc hiéu

Dang cau héi: Tim thong tin thuc

Giii chi tiét:

Dua vao thong tin trong bai, thuat ngit “ pandemics” c6 thé dugc giai thich la:

A. Nhiing cin bénh khong c6 thude chira.
B. Mot loai cam gay chét nguoi.
C. Nhiing cin bénh lay lan qua nhanh va cudp di mang séng ciia nhiéu nguoi.
D. Nhiing cin bénh méi giong nhu SARS hoic virut Marburg,
Thoéng tin: Poan 1: But sometimes they spread very quickly and kill large numbers of people. ... Such
terrible outbreaks of a disease are called pandemics.
Tam dich: Nhung d6i khi chung (bénh tat) lay lan rat nhanh va cudp di mang song cua rat nhiéu nguoi....Su
bung nd nhing cin bénh khung khiép nhu vay goi 1a dai dich (pandemics).
Question 33 (TH) . According to the passage, all of the following are true of the 1918 flu pandemic
EXCEPT that :

A. it involved a new kind of flu virus.

B. it killed over 25 million people.

C. it was the last pandemic in history.

D. it took a little over a week to kill its victims.




bap an C
Kién thire: Doc hiéu
Dang cau héi: Cau hoi loai trir
Giai chi tiét:
Theo bai van, tat ca nhiing cau sau déu ding vé dich cam nam 1918, NGOAI TRU"
A. N6 bao gém 1 loai virut cam méi.
B. N6 da giét chét hon 25 triéu nguoi.
C. N6 1a dai dich cubi cung trong lich sir.
D. N6 mét hon 1 tuan dé giét chét nan nhan.
Thong tin:
+ Dap an A: Doan 2: In 1918, a new type of flu virus appeared.
+ Pap an B: Poan 1: For example, in 1918, an outbreak of the flu spread across the world, killing over 25
million people in only six months.
+ Pap an D: Poan 3: The flu virus of 1918, on the other hand, generally took about a week to ten days to
kill its victims, so it had more time to spread.
Question 34 (TH) . Which of the following is mentioned as a common feature of all pandemic diseases?
A. They spread from people to people very slowly.
B. They may kill many people very quickly.
C. They kill all the victims.
D. They do not kill people very quickly.

Pap an D

Kién thirc: Doc hiéu

Dang cau hoéi: Cau hdi tim thong tin thuec.

Giai chi tiét:

Y ndo dudi day dugc nhic dén nhu 1a 1 dic diém chung cua tit ca cac dai dich?

A. Chung lay tir ngudi sang nguoi rat cham.

B. Chiing c6 thé giét chét nhiéu ngudi rat nhanh.

C. Chiing giét chét tit ca nan nhén.

D. Chiing khong lam chét ngudi nhanh chéng.

Thong tin: Poan 3:

Second, while they may kill many people, they generally do not kill people very quickly
Tam dich: Thir 2 1a mic du ching c6 thé giét chét nhiéu nguoi nhung nhin chung chiing khong 1am ngudi
bénh chét 1 cach nhanh chong.

Read the following pasage and mark the letter A, B, C or D on your answer sheet to indicate the correct
answer to each of the questions from 35 to 42.

A survey is a study, generally in the form of an interview or a questionaire, that provides information
concerning how people think and act. In the United States, the best — known surveys are the Gallup poll and
the Harris poll. As anyone who watches the news during campaigns presidential knows, these polls have
become an important part of political life in the United States.

North Americans are familiar with the many "person on the street” interviews on local television
news shows. While such interviews can be highly entertaining, they are not necessarily an accurate
indication of public opinion. First, they reflect the opinion of only those people who appear at a certain
location. Thus, such samples can be biased in favor of commuters, middle-class shoppers, or factory
workers, depending on which area the newspeople select. Second, television interviews tend to attract



outgoing people who are willing to appear on the air, while they frighten away others who may feel
intimidated by a camera. A survey must be based on a precise, representative sampling if it is to genuinely
reflect a broad range of the population.

In preparing to conduct a survey, sociologists must exercise great care in the wording of questions.
An effective survey question must be simple and clear enough for people to understand it.

It must also be specific enough so that there are no problems in interpreting the results. Even
questions that are less structured must be carefully phrased in order to elicit the type of information desired.
Surveys can be indispensable sources of information, but only if the sampling is done properly and the
questions are worded accurately.

There are two main forms of surveys: the interview and the questionnaire. Each of these forms of
survey research has its advantages. An interviewer can obtain a high response rate because people find it
more difficult to turn down a personal request for an interview than to throw away a written questionnaire. In
addition, an interviewer can go beyond written questions and probe for a subject's underlying feelings and
reasons. However, questionnaires have the advantage of being cheaper and more consistent.

Question 35: What does the passage mainly discuss?
A. The history of surveys in America
B. The principles of conducting surveys
C. Problems associated with interpreting surveys
D. The importance of polls in American political life

Pap an: B
Kién thire: Doc hiéu
Gii chi tiét
Poan van trén chu yéu théo luan vé van dé gi?
A. Lich str cac cudc khao sat 6 My
B. Nguyén tic tién hanh khao sat.
C. Cac van dé lién quan dén viéc giai thich cac cudc khao sat
D. TAm quan trong ctia cac cudc thim do trong doi sdng chinh tri My
Thong tin: trong bai doc da dua ra thé nao 1a mot cude khao sat, cac hinh thirc khao sat, cach dit cac cau hoi
khao sat va nhiing diéu can chuén bi khi tién hanh mét cudc khao sat. Vay nén bai viét trén chu yéu thao
ludn vé& cac nguyén tic tién hanh khao sat.
Question 36: The word "they" in line 7 refers to .
A. North Americans B. news shows C. interviews D. opinions

Pap an: C

Kién thirc: Poc hiéu

Giai chi tiét

Tir “they” trong dong s6 7 dé cap dén

A. Nguoi Bic My

B. Céac chuong trinh tin tirc

C. Céc cudc phong van

D. Cac ¥ kién

Thong tin: While such interviews can be highly entertaining, they are not necessarily an accurate indication
of public opinion. First, they reflect the opinion of only those people who appear at a certain location.

Tam dich: Trong khi cic cudc phong van nhu vay c6 thé rat tha vi, chiing khong nhat thiét phai 1a phan 4nh
chinh xac quan diém du luan. Pau tién ching phan anh y kién chi cta nhitng nguoi xuat hién tai mot dia
diém nhét dinh.



Question 37: According to paragraph 3, which of the following is the most important for an effective
survey?

A. A high number of respondents

B. Carefully worded questions

C. An interviewer's ability to measure respondents’ feelings

D. A sociologist who is able to interpret the results

Pap an: B
Kién thirc: Poc hiéu
Giai chi tiét
Theo doan 3, diéu nao sau ddy la quan trong nhat dé c6 mot cude khao sat hiéu qua?
A. Nhiéu ngudi tra 10
B. Tir ngit dugc st dung trong cau hoi can than
C. Kha ning ctia ngudi phong van dé do dugc cam xuc ciia nhitng ngudi tra 1oi
D. Mot nha x3 hoi hoc ¢ kha ning lam sang to két qua
Thoéng tin: In preparing to conduct a survey, sociologists must exercise great care in the wording of
questions. An effective survey question must be simple and clear enough for people to understand it.
Tam dich: Khi chuan bj tién hanh mot cudc khao sat, cac nha xa hoi hoc phai sir dung can trong trong cach
dién dat cac cau hoi. Mot cau hoi khao sat hiéu qua phai don gian va du rd rang dé moi nguoi hiéu.

Question 38: The word "exercise™ in line 13 is closest in meaning to .

A. utilize B. consider C. design D. defend

Pap an: A
Kién thire: Doc hiéu
Giai chi tiét
Tir “exercise” & dong 13 c6 nghia gin nhét véi tir
A. su dung
B. can nhic
C. thiét ké
D. bao vé
Exercise (v) st dung, rén luyén
Thoéng tin: In preparing to conduct a survey, sociologists must exercise great care in the wording of
questions. An effective survey guestion must be simple and clear enough for people to understand it.
Tam dich: Khi chuén bi tién hanh mot cude khéao sat, cac nha xa hoi hoc phai st dung can trong cac tur nglr
clia cac cau hoi. Mot cau hoi khao sat hidu qua phai don gian va rd rang dé moi nguoi hiéu.

Question 39: The word "elicit™ in line 16 is closest in meaning to .

A. compose B. rule out C predict D. bring out

Pap an: D

Kién thirc: Poc hiéu

Giii chi tiét

Tir “elicit” & dong 16 ¢ nghia gan nhat vai tir

A. soan

B. ngén cén, loai trir

C. du bao

D. 1am ndi bat, 1am 1§ ra

Elicit (v) goi ra, 1am ndi bat ra



Théng tin: Even questions that are less structured must be carefully phrased in order to elicit the type of
information desired
Tam dich: Ngay ca nhitng cu hoi it ciu trac ciing phai dugc dit ra mot cach can than dé lam ndi bat loai
thong tin mong mudn.
Question 40: It can be inferred from the passage that one reason that sociologists may become frustrated
with questionnaires is that :

A. respondents often do not complete and return questionnaires

B. questionnaires are often difficult to read

C. questionnaires are expensive and difficult to distribute

D. respondents are too eager to supplement questions with their own opinions

Dap an: A
Kién thire: Doc hiéu
Giai chi tiét
C06 thé suy ra tir doan vin rang mot 1y do khién cac nha x3 hoi hoc c6 thé that vong véi bang cau hoi d6 1a
A. Nguoi tra 101 thuong khong hoan thanh va tra lai bang cau hoi
B. Bang cau hoi thuong kho doc
C. Bang cau hoi dat va kho phan phat
D. Ngudi tra 101 qua nhiét tinh dé bo sung vao cac cau hoi voi y kién cua riéng ho
Thoéng tin: An interviewer can obtain a high response rate because people find it more difficult to turn down
a personal request for an interview than to throw away a written questionnaire.
Tam dich: Ngudi phong véan co thé ¢ duge mot ty 1& phan hodi cao boi vi moi ngudi thdy kho cé thé tir chdi
yéu cAu c4 nhan cho mdt cudc phong van hon 1a vit bd mot bd cau hoi trén giéy.
Question 41: According to the passage, one advantage of live interviews over questionnaires is that live
interviews :
A. cost less B. can produce more information

C. are easier to interpret D. minimize the influence of the researcher
Pap an: B
Kién thirc: Poc hiéu
Giai chi tiét

Theo doan vin, mot lgi thé ctia nhitng cudc phong van truc tiép khi so v6i bang hoi 1a nhitng cudc phong van
truc tiép
A. Chi phi it hon
B. C6 thé tao ra nhiéu thong tin hon
C. D@ giai thich hon
D. Giam thiéu téi da anh hudng cta nha nghién ctru
Thoéng tin: An interviewer can obtain a high response rate because people find it more difficult to turn down
a personal request for an interview than to throw away a written questionnaire. In addition, an interviewer
can go beyond written questions and probe for a subject's underlying feelings and reasons.
Tam dich: Ngudi phong van c6 thé c6 dugc mot ty 1 phan hdi cao hon boi vi moi ngudi thay khé dé co thé
tir chdi yéu cau c4 nhan cho mdt cudc phong van hon 1a vit bd mot bo cau hoi trén giéy. Thém vao d6, mot
ngudi phong van co thé tién xa hon b cau hoi trén gidy va thim do duoc cam xuc va Iy do ctia ngudi tra 10i.
Question 42: Which of the following terms is defined in the passage?

A. Survey (line 1) B. Public opinion (line 7)

C. Representative sampling (line 11) D. Response rate (line 20)

Pap an: A



Kién thire: Doc hiéu

Giai chi tiét

Khai niém nao sau day dugc dinh nghia trong bai doc?

A. Cudc khao sat (dong 1)

B. Quan diém cua du luan (dong 7)

C. Mau dai dién (dong 11)

D. Ti 1& phan hoi (dong 20)

Thong tin:

Line 1-2: A survey is a study, generally in the form of an interview or a questionaire, that provides
information concerning how people think and act.

Line 6-7: While such interviews can be highly entertaining, they are not necessarily an accurate indication of
public opinion.

Line 10-11: A survey must be based on a precise, representative sampling.

Line 20: An interviewer can obtain a high response rate because people find it more difficult to turn down a
personal request for an interview than to throw away a written questionnaire.

Tam dich:

Dong 1-2: Mot cude khao sat 1a mot nghién ciru, thudng dudi dang mot budi phong van hay mot bang cau
hoi, n6 cung cap thong tin vé cach con ngudi suy nghi va hanh dong.

Dong 6-7: Trong khi cac cudc phong van nhu vy c6 thé rat tha vi, chung khong nhat thiét phai 1a phan anh
chinh x4c quan diém du luan.

Dong 10-11: Mot khao sat phai duoc dya trén mot ban mau dai dién, chinh xac.

Dong 20-21: Ngudi phong van c6 thé c6 dugc mot ty 1& phan hdi cao hon bai vi moi nguoi thiy kho dé co
thé tir chdi yéu cau ca nhan cho mot cudc phong van hon 14 virt bd mot bo cau hoi trén gidy.

Vi vay chi c6 cudc khao sat 1a dugc dinh nghia trong bai doc

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in
each of the following questions.

Question 43 (NB):
Professor Jones said that a good way to improve your language are learning to practise it
A B C D
frequently.
Pap an C

Kién thirc: Sy hoa hop giita chu ngir va dong tir

Gii chi tiét:

Chu ngir “a good way to improve your language” (Mot cdch tot dé trau doi ngén ngir ciia ban) 1a danh tir s6
it, tobe chia la “is™.

Stra: are => is

Tam dich: Gido su Jones ndi rang mot cach t6t dé trau doi ngdn ngit ciia ban 1a hoc cach luyén tap né
thuong xuyeén.

Question 44 (TH):
To have a successful interview, you should be on time, dress neatly and formally, and having sense of
A B C D
humor.
Pap an D

Kién thirc: Cau tric song hanh



Giai chi tiét:

“and” ndi cac tir ciing loai, ciing tinh chat

Trudc “and” 1a cac dong tir dang V_Dbare (be, dress) => sau “and” cling phai la V_bare.

Stra: having => have

Tam dich: bé c6 duoc mot cude phong van thanh cong, ban nén dung giod, an mac gon gang va lich su, va
¢6 khiéu hai huéc.

Question 45 (VD):
There was a gradual raise in the number of literate males and females in the Lowlands.
A B C D
bap an B

Kién thirc: Tir vung

Giai chi tiét:

a rise in sth: c6 su tang trong ...

Sura: raise => rise

Tam dich: S6 luvong nam gi6i va nit gidi biét chir & ving ddng bang dang dan dan tang 1én.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to
each of the following questions.
Question 46 (TH): | can't cook as well as my mother does.

A. My mother can cook better than | can. B. My mother can't cook better than | can.
C. My mother can cook well than I can. D. I can cook better than my mother can.
Pap an A
Kién thirc: So sanh hon, so sanh bang/khong bang
Giii chi tiét:

So sanh khong bang ciia trang tir well: S; + (not) + V + as well as + S,
So sanh hon cua trang tir well: S; + V + better + than + S,
Tam dich: T6i khong thé ndu in ngon nhu me cua toi.
A. Me ctia t6i c6 thé ndu an ngon hon t6i. => dung
B. Me cua t6i khong thé niu dn ngon hon toi => sai nghia
C. Me clia t6i ¢ thé ndu an ngon hon t6i. => sai & tir "well"
D. Téi c6 thé nau an tot hon me clia t6i. => sai nghia
Question 47 (VD): “I will definitely return it to you tomorrow” John said.
A. John said that he will return it to me the next day.
B. John promised to return it to me the next day.
C. John told that he will return it to me the next day.
D. John decided to return it to me the next day.

bap an B

Kién thirc: Cau tudng thuat

Giii chi tiét:

Céc cdu tric:

promise to V: hira s€ lam gi

decide to V: quyét dinh lam gi

Tam dich: "Toi nhét dinh sé& tra n6 cho ban vao ngay mai" John noi.

A. John néi rang anh 4y sé& tra né cho t6i vao ngay hom sau. => sai & tir "will" (chua lui thi)
B. John htra s€ trd n6 cho t61 vao ngay hom sau. => dliing



C. John bao rang anh 4y s& tra n6 cho t6i vao ngay hom sau. => sai & tir "will" (chua 1ui thi)
D. John quyét dinh tra n6 cho t6i vao ngay hom sau. => sai vi chua c6 dong tir tuong thuat
Question 48 (TH): You had better reduce the amount of fat you take in every day.
A. You should eat more fat everyday.
B. The amount of fat you take in is reduced well.
C. You ought to cut down on the amount of your everyday fat intake.
D. It is better for you to eat as much fat as you can everyday.

Pap an C

Kién thirc: Dong tir khuyét thiéu

Giii chi tiét:

had better + V = should + V = ought to + V: nén lam gi

Tam dich: Ban nén giam luong chit béo dua vao co thé hang ngay.

A. Ban nén an nhiéu chit béo hang ngy => sai nghia

B. Luong chit béo ban dua vao co thé duoc giam xudng hiéu qua => sai nghia
C. Ban nén cét giam luong chit béo dua vao co thé hang ngay => dung

D. S& t6t hon néu ban c6 thé an dugc nhidu chat béo hang ngay => sai nghia

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair
of sentences in the following questions.
Question 49 (VDC): I'm sorry | wasn't in the office when you phoned. | know | promised to be.
A. | should be in the office when you phoned.
B. I should have been in the office when you phoned.
C. I must have been in the office when you phoned.
D. I might be in the office when you phoned.
Pap an B

Kién thire: Dong tir khuyét thiéu dién ta mot sy viée da xay ra trong qué khir
Giai chi tiét:
should + V: nén lam gi
might + V: ¢ thé, c6 1&
should have + Py;: 1€ ra nén lam gi trong qua khir nhung da khong lam
must have + Py;: chic han da 1am gi trong quéa khi (phong doan)
Tam dich: T6i xin 15i t6i d4 khong & van phong khi ban goi dién. Toi biét toi da hira s& & trong van phong.
A. T6i nén ¢ vian phong bi ban goi. => sai vi thoi chua hoa hop: "should be" (hién tqi) trong khi “phoned"”
(qua khir)
B. To1i I€ ra phai & trong van phong khi ban goi dién. => diing
C. T6i chac han d & trong vian phong khi ban goi dién. => sai nghia
D. T6i co 1€ ¢ trong van phong khi ban goi dién. => sai nghia
Question 50 (VDC): He spent all his money. He even borrowed some from me.
A. As soon as he borrowed some money from me, he spent it all.
B. Hardly had he borrowed some money from me when he spent it all.
C. Not only did he spent all his money but also he borrowed some from me.
D. Not only did he spend all his money but he borrowed some from me as well.
Pap an D

Kién thire: Dao ngir v6i Not only ... but ... as well.
Gii chi tiét:




Not only + trg dong tir + S + V + but + S + V + as well: khong nhitng ... ma con ...

Tam dich: Anh 4y da tiéu hét tién ctia anh 4y. Anh 4y con muon thém moét it tién cta toi.

A. Ngay khi anh ta vira muon dugc mot it tién cua toi thi anh ta tiéu hét no. => nghia chua dﬁy du so vdi cau
de bai cho.

B. Ngay khi anh 4y muon duoc tién cua t6i thi anh 4y tiéu hét nd. => nghia chwa day du so voi cau dé bai
cho.

C. Anh 4y khong chi tiéu hét tién cua anh 4y ma con muon thém mat it tién cua téi. => sai & chd "spent"

D. Anh ay khong chi tiéu hét tién ctia anh 4y ma con mugn thém mét it tién cta toi. => dung

-------------------------- Theend ---




